FEFRITEIZE T &= M Eik = H P B e

AEFEAB Fp28F7A 12B(K) FETI 8 KMhoF&k 6 KET Xz Bh REME FEOLREA
A E MR FEFME/BORATE RE/ =S Mt 44— HiEh/aUs Y

1 BREZERE 210 B (EEH#138E 41 E#72ME)
(1) BEEERY 100 [B (BERE36E 7 RE64[mE)
Bt b= [E] 2% 36 &R 64
F15 15 F15 15
F16 0 F16 27
KC135 1 KC135 2
P3C 6 P3C 5
MC130 1 MC130 1
MC130J 2 MC130J 0
. EP3 0 EP3 1
: KC130 2 KC130 2
: C40 1 C40 0
AH-1WaJ5 | 0 AH-1WaJ35| 1
P-8 5 P-8 5
uc12 1 uc12 2
UC35 0 UC35 1
ZFDith 2 ZDith 2
&&t 36 &&t 64
(2) O—/sR 22 [q] (6) BiEih EZERIT 6 [E]
(3) #yF&I— 33 [A] (7) &R 0 [A]
(4) 25EMm 14 [A] (8) £Dith 0 [@
(5) EZemsT 35 [A]

2 FERITEBAZ—H KE oE

FE51| F15 | F16 [kc135| P-8 | P3C |MC-130|mc-1300|UC-12| &
A 0 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0 0
C 0 2 0 0 0 0 0 0 2
D 0 0 0 0 1 0 0 0 1
E 0 2 0 1 0 0 1 2 6
H 0 4 0 1 1 0 1 2 9

3 mifiih EZ2ST 150

4 BEREE 1024 dB (08:12 F-15 BffERF )



